Getting to Know Name

the Basic Trig Identities

List all identities equivalent to the given trig function.

1. sinx = : sinx= (06/( T3
Csen L
2. COS¥ = l cosx= 9m ! i:? ) cosx= ¢a¢(-% :}
Sec x
C N i qT
3. tanx= <2IMNX tan x = ,__L, tanx= o g/ 3;j~’>(>
. e o . \ &
LO3% LT X
4. cscx = /qﬁ csex = ?fc f: ~)/>
T A o \\ "f_ N/
5%
5. secx = —— secx= (S0 ) secx = Cep )
CoSx
6. cotx = O@/f cotx = } cotx = (t&ﬂm( > )()
Fill in the blanks and/or complete each trig identity.
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Other identities can be formed by rearranging the basic trig identities.
Fill in the blanks to create other identities that you did not already list on the front side!
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By manipulating the basic trig identities, you can create nine expressions that are equivalent to 1!
Write these 9 identities that are all equivalent to 1.
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